

12/1/20

Date:

Sub:

ماتریک و معادلات

$$f(x) = \begin{cases} \frac{\sqrt{4x^2 + (m+3)x + \frac{m}{4}}}{|2x^2 + (m-3)x + a^2|} & x \neq a \\ \frac{f \tan b}{\sqrt{-2}} & x = a \end{cases}$$

* $a < b < \pi$

$$\frac{f \tan b}{\sqrt{-2}} \quad x = a$$

$$\Delta = 0 \rightarrow (m+3)^2 - 4 \cdot \frac{m}{4} = 0 \rightarrow (m-3)^2 = 0 \rightarrow m = 3$$

$$x = a = \frac{-(3+3)}{2} \rightarrow a = -\frac{1}{2}$$

$$\lim_{x \rightarrow -\frac{1}{2}} \frac{\sqrt{4(x+\frac{1}{4})^2}}{|2x^2 + \frac{1}{2}|} = \lim_{x \rightarrow -\frac{1}{2}} \frac{\sqrt{4} |x + \frac{1}{4}|}{2 |x^2 + \frac{1}{2}|} \Rightarrow$$

$$\frac{\sqrt{4}}{\frac{1}{2}} = \frac{2\sqrt{4}}{1} \rightarrow f(-\frac{1}{2}) = \frac{f \tan b}{\sqrt{-2}} = \frac{2\sqrt{4}}{1} \Rightarrow f \tan b = \frac{\sqrt{4}}{1}$$

$$b = \frac{\pi}{4}$$

$$ax^2 - ax + b = 0 \rightarrow f(x) = \frac{x^2 + ax + b}{x-1}$$

$$\begin{cases} a - a + b = 0 \\ * a - b = a \end{cases} \rightarrow \text{ماتریک و معادلات}$$

$$\begin{cases} 1 + a + b = 0 \\ * a + b = -1 \end{cases}$$

$$\begin{cases} a - b = a \\ a + b = -1 \end{cases}$$

$$2a = -1 \rightarrow a = -\frac{1}{2} \quad b = -\frac{1}{2}$$

$$\left[\frac{b-a}{1} \right] = 0$$

$$\left[\frac{-\frac{1}{2} - (-\frac{1}{2})}{1} \right] = 0$$

ESPADANA

Date:

Sub: $\tan \frac{\pi}{4} = -1$

$$f(x) = \begin{cases} \tan \frac{(2x+1)\pi}{4} & x \leq 1 \\ \frac{-(x+2)(x-1)}{|x^2+x-2|} & 1 < x < 5 \\ \frac{a(1-x)}{b(x-[x])} & x \geq 5 \end{cases}$$

-3
I راسه بانه
[5, 5] يولته
ab=2

$\frac{-(x+2)}{a}$

$\rightarrow 1 \cdot b$

$$f(1) = \lim_{x \rightarrow 1^+} f(x) \Rightarrow -1 = -\frac{(x+2)}{a} \Rightarrow a=3$$

ab=2

$$f(5) = \lim_{x \rightarrow 5^-} f(x) \rightarrow 1 \cdot b = -\frac{1}{a} \rightarrow b = -\frac{1}{a}$$

ab=2

$$f(x) = a[x+1] + b[x + \frac{[a]+1}{a}] \rightarrow \text{يوته } \mathbb{R} \text{ د } -f$$

a[a]
f(x)

$$a[x] + a + b[x] + b[a] + b$$

$$[x](a+b) + b[a] + a + b \Rightarrow \frac{a[a]}{-a[a]} = -1$$

ضرب عامل صفر يونده
يا عامل يو تنگ

$$a+b=0 \rightarrow f(a) = -a[a]$$

$a = -b$

$$f(x) = b[x^2 - ax] - 1a \quad \mathbb{R} \text{ يولته } -a$$

a
f(a) = 2
-1a = -1

$b=0$

$$f(a) = -1a \rightarrow \frac{a}{f(a)} = \frac{a}{-1a} = -1$$

Date:

Sub:

$$f(x) = \begin{cases} \frac{x^r + m x + n}{a - x} & x \neq a \\ r & x = a \end{cases} \quad \begin{matrix} -9 \\ f(a) = 0 \\ n - m = 9 \end{matrix}$$

$$\lim_{x \rightarrow a} \frac{x^r + m x + n}{a - x} \stackrel{\text{hop}}{=} \frac{r a^{r-1} + m}{-1} = r$$

$$r a + m = -r$$

$$\text{we } x=a \rightarrow a^r + m a + n = 0$$

(1, 10, 9)

$$f(a) = 0 \rightarrow \frac{f a^r + r a m + n}{a} = 0 \rightarrow f a^r + r a m + n = 0$$

$$f a^r + r a m + n = a^r + m a + n \rightarrow f a^r = -r a m$$

$$* \quad 19 + (-r \epsilon) + n = 0$$

$$r a = -r m$$

$$-\frac{r}{r} a = m$$

$$\boxed{r=1}$$

$$r a = \frac{r}{r} a$$

$$\frac{1}{r} a = -r \rightarrow a = -r$$

$$n - m = 1 - 9 = -8$$

$$n - m = 1 - (-9) = 10$$

$$m = \frac{r}{r} \times r = 9$$

$$m = 9$$

$$n = -9$$

Date:

Sub:

$$f(x) = \begin{cases} (1-a)[x] + (a^r - 1)[-x] & x \notin \mathbb{Z} \\ b \sin\left(\frac{\pi}{a}\right) & x \in \mathbb{Z} \end{cases}$$

$\frac{a}{b} = r$

$$1-a = a^r - 1 \rightarrow a^r + a - r = 0$$

$$a = -1 \quad a = \frac{1}{r}$$

$$r([x] + [-x])$$

$$x \in \mathbb{Z} \rightarrow 0$$

$$b \sin\left(\frac{\pi}{a}\right) = 0$$

$$b = \cancel{0}$$

$$\frac{1}{r}([x] + [-x]) = 1$$

$$b \sin\left(\frac{\pi}{a}\right) = \frac{1}{r} \rightarrow b = \frac{1}{r}$$

$$\frac{a}{b} = r$$

$$\lim_{n \rightarrow \frac{1}{r}} \frac{|(a-1)(n+m+1)|}{|(a-1)(n+1)| + |a-1|} = \frac{|a-1|(n+m+1)}{|a-1|(m|n+1|+1)} = \frac{|m+r|}{r_{m+1}} = \frac{m}{m+r} \rightarrow 1$$

$$m \gg -r \rightarrow m^r + m + r = r m^r + m \rightarrow m^r - r m - r = 0 \rightarrow \begin{cases} m = -1 \\ m = r \end{cases}$$

$$m = r \rightarrow \frac{|a^r + a - a|}{r|a-1||n+1| + |a-1|} = \frac{|a-1|(n+a)}{|a-1|(r|n+1|+1)} \rightarrow \lim_{n \rightarrow \frac{1}{r}} \frac{a + \frac{1}{r}}{r \frac{a}{r} + 1} = \frac{\frac{r}{r}}{r} = \frac{r}{r} = 1$$

$$m = -1 \rightarrow \frac{|a^r - a|}{-|a-1||n+1| + |a-1|} = \frac{|a||a-1|}{|a-1|(-|n+1|+1)} \quad \times$$

Date:

Sub:

$$u=a \rightarrow \text{جوابی، تعریف می‌شود}$$

① - 9

$$a^r + a = 0 \rightarrow a(a+1) = 0 \rightarrow \begin{cases} a=0 \text{ X} \\ a=-1 \checkmark \end{cases}$$

$$a^m + a(m-r) + a^r = 0 \xrightarrow{a=-1} -1 - m + r + 1 = 0 \rightarrow m=r$$

$$\lim_{u \rightarrow -1} \frac{\sqrt{r} |-u-1|}{|u^m+1|} = \frac{\sqrt{r} |-(u+1)|}{|(u+1)(u^r-u+1)|} = \frac{\sqrt{r}}{r}$$

$$f(x) = \begin{cases} \frac{x^r + |x|}{x^r + a|x|} & x \neq 0 \\ \frac{ra-1}{ra+r} & x=0 \end{cases}$$

$\lim_{x \rightarrow 0^+} f(x) = \lim_{x \rightarrow 0^+} \frac{x^r + x}{x^r + ax} = \frac{1}{a}$
 $\lim_{x \rightarrow 0^-} f(x) = \lim_{x \rightarrow 0^-} \frac{x^r - x}{x^r - ax} \xrightarrow{\text{Hop}} \lim_{x \rightarrow 0^-} \frac{rx-1}{rx-a} = \frac{1}{a}$
 $\lim_{x \rightarrow 0} f(x) = \frac{ra-1}{ra+r} = \frac{1}{a} \rightarrow ra^r - a = ra + r$

$$f(x) = \frac{ra-1}{ra+r} = \frac{1}{a} \rightarrow ra^r - a = ra + r$$

$$ra^r - ra - r = 0 \rightarrow a = -\frac{1}{r} \text{ or } r$$

$$\lim_{x \rightarrow \frac{1}{a}} f(x) = \frac{0}{0} \checkmark$$

②

$$a = -\frac{1}{r}$$

Göz